

On positive integers with a certain nondivisibility property*

Ioulia Baoulina^a, Florian Luca^b

^aHarish-Chandra Research Institute

^bInstituto de Matemáticas, Universidad Nacional Autónoma de México

Submitted 25 May 2008; Accepted 5 September 2008

Abstract

For a positive integer $k \geq 3$ let $(u_m^{(k)})_{m \geq 0}$ be the Lucas sequence given by $u_0^{(k)} = 0$, $u_1^{(k)} = 1$ and $u_{m+2}^{(k)} = ku_{m+1}^{(k)} - u_m^{(k)}$ for all $m \geq 0$. In this paper, we study the positive integers n such that

$$\frac{n - k}{1 + (k - 2)(u_m^{(k)})^2} \notin \mathbb{Z} \quad \text{for any } 3 \leq k < n \text{ and } m \geq 1.$$

Keywords: Diophantine Equations, Primes, Euler Function, Fibonacci Numbers

MSC: 11N25, 11N36

1. Introduction

For a positive integer $k \geq 3$ let $(u_m^{(k)})_{m \geq 0}$ be the Lucas sequence given by $u_0^{(k)} = 0$, $u_1^{(k)} = 1$ and $u_{m+2}^{(k)} = ku_{m+1}^{(k)} - u_m^{(k)}$ for all $m \geq 0$. In this paper, we study the positive integers n such that

$$\frac{n - k}{1 + (k - 2)(u_m^{(k)})^2} \notin \mathbb{Z} \quad \text{for any } 3 \leq k < n \text{ and } m \geq 1. \quad (1.1)$$

Let \mathcal{N} be the set of positive integers satisfying property (1.1). The study of this set of integers is motivated by the study of the solutions of the Diophantine equation

$$x_1^2 + \cdots + x_n^2 = yx_1 \cdots x_n, \quad n \geq 3, \quad (1.2)$$

*We thank the referee for suggestions that improved the quality of this paper.

in positive integers x_1, \dots, x_n, y . Hurwitz [5], proved that the Diophantine equation (1.2) has no solutions with $y > n$ and has infinitely many solutions with $y = n$. Herzberg [4], showed that there are only 15 values of $n \leq 301020$ for which (1.2) has no solutions with $y < n$. In particular, for any $2688 < n \leq 301020$, equation (1.2) has solutions with $y < n$. Using Herzberg's algorithm, we checked all $n \leq 10^8$ and didn't find any other exceptional values. It is conjectured that for a sufficiently large n , equation (1.2) has a solution with $y < n$. Let us remark that Hurwitz's results yield that $(u_{m+1}^{(k)} - u_m^{(k)}, u_m^{(k)} - u_{m-1}^{(k)}, \underbrace{1, \dots, 1}_{k-2}, k)$ is a solution of the equation

$$y_1^2 + \dots + y_k^2 = zy_1 \dots y_k$$

for any $k \geq 3$ and $m \geq 1$. It is easy to check that

$$(u_{m+1}^{(k)} - u_m^{(k)})(u_m^{(k)} - u_{m-1}^{(k)}) = 1 + (k-2)(u_m^{(k)})^2.$$

Hence, if for a given n there exist $3 \leq k < n$ and $m \geq 1$ such that $\frac{n-k}{1+(k-2)(u_m^{(k)})^2}$ is an integer, then $(u_{m+1}^{(k)} - u_m^{(k)}, u_m^{(k)} - u_{m-1}^{(k)}, \underbrace{1, \dots, 1}_{n-2}, y)$ is a solution of (1.2), where

$$\begin{aligned} y &= \frac{(u_{m+1}^{(k)} - u_m^{(k)})^2 + (u_m^{(k)} - u_{m-1}^{(k)})^2 + k - 2}{(u_{m+1}^{(k)} - u_m^{(k)})(u_m^{(k)} - u_{m-1}^{(k)})} + \frac{n-k}{1+(k-2)(u_m^{(k)})^2} \\ &= k + \frac{n-k}{1+(k-2)(u_m^{(k)})^2} < n. \end{aligned}$$

In particular, if for any sufficiently large n we could find such values of k and m , then the conjecture would follow. Unfortunately, there are infinitely many values of n which are in the set \mathcal{N} , and this is the content of our paper.

2. Result

Our precise result is the following. For a set \mathcal{A} of positive integers and a positive real number x let $\mathcal{A}(x) = \mathcal{A} \cap [1, x]$.

Theorem 2.1. *There exists x_0 such that $\#\mathcal{N}(x) > 0.09x/\log x$ for $x > x_0$.*

For the proof, we will need the following lemma. For a positive integer m let $\phi(m)$ denote the Euler function of m .

Lemma 2.2. *We have the estimate*

$$S = \sum_{k \geq 3} \sum_{m \geq 2} \frac{1}{\phi(1+(k-2)(u_m^{(k)})^2)} < 0.91. \quad (2.1)$$

Proof. Let $\omega(m)$ be the number of distinct prime factors of the positive integer m . Thus, if $p_1 < p_2 < \dots < p_{\omega(m)}$ denote all the prime factors of $m > 1$, then

$$\frac{\phi(m)}{m} = \prod_{i=1}^{\omega(m)} \left(1 - \frac{1}{p_i}\right) \geq \prod_{i=1}^{\omega(m)} \left(1 - \frac{1}{i+1}\right) = \frac{1}{\omega(m)+1}.$$

From here, we can deduce various things. For example, since $m \geq 2^{\omega(m)}$, we get that $\omega(m) \leq (\log m)/(\log 2)$, therefore the above inequality gives

$$\frac{\phi(m)}{m} \geq \frac{1}{(\log m)/(\log 2) + 1} = \frac{\log 2}{\log(2m)}. \quad (2.2)$$

Then

$$\frac{1}{\phi(m)} \leq \frac{\log(2m)}{m \log 2}.$$

Applying this to $1 + (k-2)(u_m^{(k)})^2$, we get

$$\frac{1}{\phi(1 + (k-2)(u_m^{(k)})^2)} \leq \frac{\log(2(1 + (k-2)(u_m^{(k)})^2))}{(\log 2)(1 + (k-2)(u_m^{(k)})^2)}.$$

For $m \geq 2$ and $k \geq 3$ we have that

$$1 + (k-2)(u_m^{(k)})^2 \geq 1 + (k-2)(u_2^{(k)})^2 \geq 1 + (k-2)k^2 \geq 10,$$

and the function $\log(2t)/t$ is decreasing for $t \geq 2$. So, we need a lower bound on $1 + (k-2)(u_m^{(k)})^2$.

It is well-known and easy to prove that if we write

$$\alpha_k = \frac{k + \sqrt{k^2 - 4}}{2} \quad \text{and} \quad \beta_k = \frac{k - \sqrt{k^2 - 4}}{2}$$

for the two roots of the quadratic equation $x^2 - kx + 1 = 0$, then

$$u_m^{(k)} = \frac{\alpha_k^m - \beta_k^m}{\alpha_k - \beta_k}.$$

Note that $\alpha_k - \beta_k = \sqrt{k^2 - 4}$ and $\alpha_k \beta_k = 1$. Hence,

$$\begin{aligned} 1 + (k-2)(u_m^{(k)})^2 &= 1 + \frac{k-2}{(\alpha_k - \beta_k)^2} (\alpha_k^{2m} + \beta_k^{2m} - 2) \\ &> 1 + \frac{1}{k+2} (\alpha_k^{2m} - 2) = \frac{\alpha_k^{2m} + k}{k+2} > \frac{\alpha_k^{2m}}{k+2} \\ &> \frac{(k^2 - 4)^m}{k+2} = (k-2)^m (k+2)^{m-1}. \end{aligned} \quad (2.3)$$

Note that for $k \geq 3$ and $m \geq 2$ we have that $(k-2)^m(k+2)^{m-1} \geq 5$. Thus,

$$\begin{aligned} \frac{1}{\phi(1+(k-2)(u_m^{(k)})^2)} &< \frac{\log(2(k-2)^m(k+2)^{m-1})}{(\log 2)(k-2)^m(k+2)^{m-1}} \\ &= \frac{1}{(k-2)^m(k+2)^{m-1}} \\ &+ \frac{m \log(k-2)}{(\log 2)(k-2)^m(k+2)^{m-1}} \\ &+ \frac{(m-1) \log(k+2)}{(\log 2)(k-2)^m(k+2)^{m-1}}. \end{aligned}$$

We shall apply the above inequality for all $k \geq 4$. The case $k = 3$ is special since in this case $u_m^{(2)} = F_{2m}$ for all $n \geq 1$, where $(F_m)_{m \geq 0}$ denotes the Fibonacci sequence given by $F_0 = 0$, $F_1 = 1$ and $F_{m+2} = F_{m+1} + F_m$ for all $m \geq 0$. Thus,

$$1 + (u_m^{(2)})^2 = 1 + F_{2m}^2 = F_{2m+1}F_{2m-1},$$

therefore

$$\phi(1 + (u_m^{(2)})^2) = \phi(F_{2m+1}F_{2m-1}) = \phi(F_{2m+1})\phi(F_{2m-1}),$$

where the last relation holds because F_{2m+1} and F_{2m-1} are coprime. Summing up over all $m \geq 2$ and $k \geq 3$, we find that

$$S < S_0 + S_1 + S_2 + S_3,$$

where

$$\begin{aligned} S_0 &= \sum_{m \geq 2} \frac{1}{\phi(F_{2m+1})\phi(F_{2m-1})}, \\ S_1 &= \sum_{k \geq 4} \sum_{m \geq 2} \frac{1}{(k-2)^m(k+2)^{m-1}}, \\ S_2 &= \sum_{k \geq 4} \sum_{m \geq 2} \frac{m \log(k-2)}{(\log 2)(k-2)^m(k+2)^{m-1}}, \\ S_3 &= \sum_{k \geq 4} \sum_{m \geq 2} \frac{(m-1) \log(k+2)}{(\log 2)(k-2)^m(k+2)^{m-1}}. \end{aligned}$$

We now compute the four sums above. We computed,

$$S_0 < 0.277.$$

To deduce this inequality, we first computed the first 100 terms in S_0 getting an answer < 0.2769 . For $n \geq 199$, we have $\phi(n) \geq 48$. Indeed, to see this note first that

$$\phi(n) \geq \frac{n \log 2}{\log(2n)} > 48,$$

where the inequality on the left holds always by inequality (2.2) and the inequality on the right holds for all $n \geq 500$. For $n \in [199, 500]$, we checked that the minimal value of the Euler function is 48. Next recall that a result of Luca [6] says that

$$\phi(F_n) \geq F_{\phi(n)}$$

holds for all n . In particular,

$$\frac{1}{\phi(F_{2n+1})\phi(F_{2n-1})} \leq \frac{1}{F_{\phi(2n+1)}F_{\phi(2n-1)}} \leq \frac{1}{\alpha^{\phi(2n+1)+\phi(2n-1)-4}},$$

where we use $\alpha = (1 + \sqrt{5})/2$ together with the fact that the inequality $F_n \geq \alpha^{n-2}$ holds for all $n \geq 2$. Let $m = \phi(2n + 1) + \phi(2n - 1) - 4$. Since $n \geq 100$, we have that $2n - 1 \geq 199$, and so $m \geq 92$. Clearly,

$$4n - 4 > m > \frac{(2n + 1) \log 2}{\log(4n + 2)} + \frac{(2n - 1) \log 2}{\log(4n - 2)} - 4.$$

We checked that the square of the above lower bound is larger than the upper bound for all $n \geq 21$, which is our case. This implies that the number of n such that $\phi(2n + 1) + \phi(2n - 1) - 4 = m$ does not exceed m^2 for n in our range. Note that m is even. To summarize,

$$S_0 \leq \sum_{n=1}^{100} \frac{1}{\phi(F_{2n-1})\phi(F_{2n+1})} + \sum_{\ell \geq 46} \frac{4\ell^2}{\alpha^{2\ell}}.$$

For $\ell \geq 12$, we have that $\alpha^\ell \geq 4\ell^2$. Thus,

$$S_0 < \sum_{n=1}^{100} \frac{1}{\phi(F_{2n-1})\phi(F_{2n+1})} + \sum_{\ell \geq 46} \frac{1}{\alpha^\ell}$$

Thus, the error in approximating S_0 by its first 100 terms is

$$< \sum_{\ell \geq 46} \frac{1}{\alpha^\ell} = \frac{1}{\alpha^{45}(\alpha - 1)} < 10^{-9}.$$

So, indeed $S_0 < 0.277$. Next,

$$S_1 = \sum_{k \geq 4} \frac{1}{(k-2)} \sum_{m \geq 1} \frac{1}{(k^2-4)^m} = \sum_{k \geq 4} \frac{1}{(k-2)(k^2-5)} < 0.0861.$$

Further,

$$S_2 = \sum_{k \geq 4} \frac{\log(k-2)}{(\log 2)(k-2)} \sum_{m \geq 1} \frac{m+1}{(k^2-4)^m} < \sum_{k \geq 4} \frac{2(k+2) \log(k-2)}{(\log 2)(k^2-5)^2} < 0.2845.$$

Finally,

$$S_3 = \sum_{k \geq 4} \frac{\log(k+2)}{(\log 2)(k-2)} \sum_{m \geq 1} \frac{m}{(k^2-4)^m} = \sum_{k \geq 4} \frac{(k+2) \log(k+2)}{(\log 2)(k^2-5)^2} < 0.2607.$$

The upper bounds on S_1 , S_2 , S_3 were computed with Mathematica. We shall justify only S_1 . Clearly,

$$\sum_{m \geq 1} \frac{1}{(k^2-4)^m} = \frac{1}{(k^2-4)} \cdot \frac{1}{1 - \frac{1}{(k^2-4)}} = \frac{1}{(k^2-5)}.$$

With Mathematica, we obtained that

$$\sum_{k=4}^{1003} \frac{1}{(k-2)(k^2-5)} < 0.08607,$$

while certainly

$$\begin{aligned} \sum_{k > 1003} \frac{1}{(k-2)(k^2-5)} &< \sum_{k > 1003} \frac{1}{(k-2)^3} = \sum_{k > 1001} \frac{1}{k^3} < \int_{1000}^{\infty} \frac{dt}{t^3} \\ &= -\frac{1}{2t^2} \Big|_{t=1000}^{t=\infty} = \frac{1}{2 \cdot 10^6} < 0.00001, \end{aligned}$$

which together imply that $S_1 < 0.0861$, as claimed. A similar argument can be used to justify the bounds on S_2 and S_3 . Hence,

$$S < 0.277 + 0.0861 + 0.2845 + 0.2607 = 0.9083 < 0.91,$$

which completes the proof of the lemma. \square

Proof of Theorem 2.1. Assume that relation (1.1) does not hold with $m = 1$. Then we get that $(n-1)/(k-1)$ is an integer for some $3 \leq k < n$, and this certainly is the case for some k if $n-1$ is not a prime. From now on, we fix a large positive real number x and we look only at numbers $n \leq x$ such that $n-1$ is prime and relation (1.1) is not satisfied for some $3 \leq k < n$ and $m \geq 2$. Then

$$n-1 \equiv k-1 \pmod{1 + (k-2)(u_m^{(k)})^2}.$$

Since $k < n$, it follows that $n-1 = (k-1) + \ell(1 + (k-2)(u_m^{(k)})^2)$ for some positive integer ℓ , therefore $1 + (k-2)(u_m^{(k)})^2 < x$. Since $m \geq 2$, it follows that

$$x > 1 + (k-2)(u_m^{(k)})^2 \geq (k-2)^m(k+2)^{m-1} \geq \max\{(k-2)^2(k+2), 5^{m-1}\}$$

(see estimate (2.3)), leading to $k = O(x^{1/3})$ and $m = O(\log x)$. So, there are only $O(x^{1/3} \log x)$ such pairs (k, m) . We may further assume that $k-1$ is coprime to $1 + (k-2)(u_m^{(k)})^2$, for if not any common prime factor q of these two integers will

be $\leq k-1 < n-1$ and will divide $n-1$, which is impossible. For positive coprime integers a and b we write $\pi(x; a, b)$ for the number of primes $p \leq x$ which are congruent to $a \pmod{b}$ and we write $\pi(x)$ for the total number of prime numbers $p \leq x$. It then follows that the number of positive integers $n \leq x$ satisfying (1.1) for any $k \geq 3$ and $m \geq 1$ is

$$\#\mathcal{N}(x) \geq \pi(x-1) - \sum_{\substack{(k,m) \\ 1+(k-2)(u_m^{(k)})^2 < x}} \pi(x; k-1, 1+(k-2)(u_m^{(k)})^2). \quad (2.4)$$

Thus, it suffices to show that the above expression exceeds $0.09x/\log x$ for all sufficiently large x .

Let x be large. We split the set of pairs (k, m) with $1+(k-2)(u_m^{(k)})^2 < x$ in three subsets as follows:

- (i) $\mathcal{S}_1 = \{(k, m) : 1+(k-2)(u_m^{(k)})^2 < (\log x)^{10}\}$;
- (ii) $\mathcal{S}_2 = \{(k, m) : (\log x)^{10} \leq 1+(k-2)(u_m^{(k)})^2 < x^{1/2}\}$;
- (iii) $\mathcal{S}_3 = \{(k, m) : x^{1/2} \leq 1+(k-2)(u_m^{(k)})^2 < x\}$.

If $(k, m) \in \mathcal{S}_1$, then, by the Siegel-Walfisz theorem (see, for example, page 133 in [1]), we have that

$$\pi(x; k-1, 1+(k-2)(u_m^{(k)})^2) = \frac{\pi(x)}{\phi(1+(k-2)(u_m^{(k)})^2)} + O\left(\frac{x}{\exp(A\sqrt{\log x})}\right)$$

for some positive constant A . Note further that since for $(k, m) \in \mathcal{S}_1$ we have that

$$(\log x)^{10} \geq 1+(k-2)(u_m^{(k)})^2 \geq \max\{(k-2)^2(k+2), 5^{m-1}\},$$

we get $k \ll (\log x)^{10/3}$ and $m \ll \log \log x \ll (\log x)^{2/3}$, therefore

$$\#\mathcal{S}_1 \ll (\log x)^4.$$

If $(k, m) \in \mathcal{S}_2$, then by the Brun-Titchmarsh theorem (see, for example, [2, Section 2.3.1, Theorem 1] or [3, Chapter 3, Theorem 3.7]), we have that

$$\begin{aligned} \pi(x; k-1, 1+(k-2)(u_m^{(k)})^2) &\ll \frac{x}{\phi(1+(k-2)(u_m^{(k)})^2) \log\left(\frac{x}{1+(k-2)(u_m^{(k)})^2}\right)} \\ &\ll \frac{\pi(x)}{\phi(1+(k-2)(u_m^{(k)})^2)}, \end{aligned}$$

where we used the fact that

$$\log\left(\frac{x}{1+(k-2)(u_m^{(k)})^2}\right) \geq \log(x^{1/2}) = \frac{\log x}{2},$$

as well as the Prime Number Theorem.

Finally, if $(k, m) \in \mathcal{S}_3$, then

$$\pi(x; k-1, 1+(k-2)(u_m^{(k)})^2) \leq \frac{x}{1+(k-2)(u_m^{(k)})^2} + 1 \ll x^{1/2}.$$

Putting everything together, we get that

$$\sum_{\substack{(k,m) \\ 1+(k-2)(u_m^{(k)})^2 < x}} \pi(x; k-1, 1+(k-2)(u_m^{(k)})^2) \leq \pi(x) \sum_{(k,m) \in \mathcal{S}_1} \frac{1}{\phi(1+(k-2)(u_m^{(k)})^2)} + O\left(\frac{x(\log x)^4}{\exp(A\sqrt{\log x})} + \sum_{(k,m) \in \mathcal{S}_2} \frac{\pi(x)}{\phi(1+(k-2)(u_m^{(k)})^2)} + x^{1/2} \#\mathcal{S}_3\right).$$

Note that $\#\mathcal{S}_3 \ll x^{1/3} \log x$, and by the Prime Number Theorem, we have

$$\frac{x(\log x)^4}{\exp(A\sqrt{\log x})} = o(\pi(x))$$

as $x \rightarrow \infty$. Since the series (2.1) sums to S , it follows that both estimates

$$\begin{aligned} \pi(x) \sum_{(k,m) \in \mathcal{S}_2} \frac{1}{\phi(1+(k-2)(u_m^{(k)})^2)} &= o(\pi(x)) \\ \pi(x) \sum_{(k,m) \in \mathcal{S}_1} \frac{1}{\phi(1+(k-2)(u_m^{(k)})^2)} &= S\pi(x) + o(\pi(x)) \end{aligned}$$

hold as $x \rightarrow \infty$. Thus,

$$\sum_{\substack{(k,m) \\ 1+(k-2)(u_m^{(k)})^2 < x}} \pi(x; k-1, 1+(k-2)(u_m^{(k)})^2) \leq \pi(x)(S + o(1)),$$

which together with estimate (2.4) and Lemma 2.2 implies the conclusion of the theorem. \square

Acknowledgements. Work on this paper was done during a pleasant visit of F. L. at HRI in Allahabad, India. He thanks the people of that institute for their kind hospitality. During the preparation of this paper, F. L. was also supported in part by Grants SEP-CONACyT 46755 and PAPIIT IN 100508.

References

- [1] DAVENPORT, H., *Multiplicative Number Theory, Second Edition*, Grad. Text in Math. 74 Springer-Verlag, 1980.

- [2] GREAVES, G., Sieves in number theory, *Springer-Verlag*, Berlin, 2001.
- [3] HALBERSTAM, H., RICHERT, H.–E., Sieve methods, *Academic Press*, London, 1974.
- [4] HERZBERG, N.P., On a problem of Hurwitz, *Pacific J. Math.*, Vol. 50 (1974) 485–493.
- [5] HURWITZ, A., Über eine Aufgabe der unbestimmten analysis, *Arch. Math. Phys.*, Vol. 3 (1907) 185–196.
- [6] LUCA, F., Euler indicators of Lucas sequences, *Bull. Mat. Soc. Mat. Roumaine*, Vol. 40 (88) (1997) 151–163.

Ioulia Baoulina

Chhatnag Road, Jhusi
Allahabad 211019
India

e-mail:

`jbaoulina@mail.ru`
`ioulia@hri.res.in`

Florian Luca

C.P. 58089, Morelia
Michoacán
México

e-mail:

`fluca@matmor.unam.mx`